"l’
‘ Controltech Stem Installation Instructions

i)z ) )

EHEE ControltechEfn - BB UL ERPEWER/IEREAL N - HLABURPEESSENERERBRIAHRELER -

RE

tBEH#EControltechi2 M FERRE - HEEZFREBERFESNEFENBEER (URZHWE ) - EREREMAEREZLEREE - BRREFRESHEMEBEER -
ControltechREI A BERZRRBRE ZEBE - A B HBREEEEERFHEMAVIIE  URBECTHREMERSAHAER - B0 AR  BINHBRER NS  EFESERER - BRANEE
tAESERESEER -

EmAiE / B
Controltech Stem

BhEE
@ UEAHE
@ UEAE
® M5 #x6

1 FwARe - BERRELFPRERINUEEFRAT % - EMNEFEEN—D -
®4C
RESE  HEHE FER4EUEENENHEE)  ARFEFUSANUERKRUERERZ

2 REERIMBEERFAATMERE AREERER - ANEEEICHBIEENHERR
= EgrREe - wma rEss - K
7 ®0® 5. ARBBHCUEHENT  BRUCERSLTPREDRE BUSHEHEL  BLTY

BER -
AEEHEE - HABKRTY - HESEAHENEFKERFRNAE - UHEKBUERRZ&XES

3 ERRUEEFR NS HE A -
E e ESaE A 2 |
LTI

aALE
—r LR AR
I
4. BHBUBNFRAERIYE  KFAESEEESKGAZRErE/sETRKEAEREENERE
www.controltechbikes.com e/ £ /. /HA




A
y/

Controltech Stem Installation Instructions

Thank you for choosing this Controltech. With proper care and installation, it will give you trouble-free, enjoyable use.

In order to maximize the safe enjoyment of this product, you should read and carefully follow the following installation instructions and warnings. Failure to do so could result in unexpected wear and/or failure, possibly resulting

in injury.

Controltech warrants this product to be free from defects in materials and workmanship for a period of two years from the date of purchase when purchased from an authorized Controltech dealer. This warranty is extended only
to the original owner of the product and is not transferable. Proof of purchase is required for any warranty service, so be sure to keep your receipt.

This warranty does not cover cosmetic or structural damage arising from misuse or abuse, including damage caused by crashes, jumping and landing, front end impact, falls or any other collision, owner neglect of regular
maintenance, improper installation of parts and accessories. Controltech makes no warranty if modifications, changes, additions or substitutions are made to any components. Wear from normal use or exposure to environmental
elements is not covered by this warranty. Controltech makes no warranty against any incidental or consequential damage to bike or parts, or rider injury caused by defects as covered in this warranty.

Components

@ Stem Body x1

@ Stem Face Plate x1
® M5 Fixing Bolts x6

®4€

@6

www.controltechbikes.com

Stem Installation Instructions:

1. Remove all bolts and lubricate with grease.

2. Center the faceplate of stem over the center section of the handlebar.

3. Tighten the stem's bar clamp bolts to secure the bars in the stem with method of criss cross. Please follow the
suggestion of torque range on the stem.

4. Insert the stem into the fork steerer tube and adjust to desired height by putting spacer and tighten the top cap.
Adjust handlebar, stem, fork, and frame in right position and tighten the stem'’s steerer clamp by suggested torque
range on stem. Finally tighten the top cap.

5. Check for proper adjustment before each ride. As part of routine maintenance, carefully check as welds, tubes and
clamps for cracks. Replace immediately if any damage is evident.

In case of a crash or impact, carefully check your stem, bars, wheels, frame and fork for any visible damage. As with
any component under varying stress, there is a fatigue life that is proportional to the use and abuse of the part.

Undetectable, microscopic cracks can develop after a crash. These can significantly
reduce the life of any bicycle part. 11””/; ””l
. wyTH/




"l’
‘ Cougar Aero Stem Installation Instructions

i)z ) )

EHEE ControltechEfn - BB UL ERPEWER/IEREAL N - HLABURPEESSENERERBRIAHRELER -

RE

tBEH#EControltechi2 M FERRE - HEEZFREBERFESNEFENBEER (URZHWE ) - EREREMAEREZLEREE - BRREFRESHEMEBEER -
ControltechREI A BEHRZRRBRE ZEBE - A B HBREEEERFHEMAVIIE  URBETHREMERSHAER - B0 AR  BINHBRER NS  EFESERER - BRANEE
tAESERESEER -

EmaE/ B5R
Cougar Aero Stem / RAS-94

EHEE
(ORVA=FN:::

Q@ UIEHE

® BB#HEX] -
@ M6E##x1 -
® FETX1 -

® £&Ex1

@ M5#4x4
M6IZ4%x2

R AA

1 BItAARA]  BERREEFPRARTNUSEFRAE—1F - SNEHEET—5 -

2 REERNEREERAAEMEREE  AREGERESR - ANEALICHEE R
B -

3 BRRUEEFR LRSS DB -

4 ERITEN N RAENAINE  REREEE KBTS ARTKEA R BENERE
WETE % CRALSEA0IESNEIRD)  BRESFUEN NI ERKISERY
mogmx sz . wemarsas |

5 ARBHLUSHEET  BRUSERERFPRIRRE - BUSHER L - BERTEO0
FRBER - BEAGO - HERABNEFRESETAE - LHEKET BRI RABNE

NC ESE O | T TNTITY

www.controltechbikes.com ./ [ /. /4



A
y/

Cougar Aero Stem Installation Instructions

Thank you for choosing this Controltech. With proper care and installation, it will give you trouble-free, enjoyable use. B
In order to maximize the safe enjoyment of this product, you should read and carefully follow the following installation instructions and warnings. Failure to do so could result in unexpected wear and/or failure, possibly resulting
in injury.

Controltech warrants this product to be free from defects in materials and workmanship for a period of two years from the date of purchase when purchased from an authorized Controltech dealer. This warranty is extended only
to the original owner of the product and is not transferable. Proof of purchase is required for any warranty service, so be sure to keep your receipt.

This warranty does not cover cosmetic or structural damage arising from misuse or abuse, including damage caused by crashes, jumping and landing, front end impact, falls or any other collision, owner neglect of regular
maintenance, improper installation of parts and accessories. Controltech makes no warranty if modifications, changes, additions or substitutions are made to any components. Wear from normal use or exposure to environmental
elements is not covered by this warranty. Controltech makes no warranty against any incidental or consequential damage to bike or parts, or rider injury caused by defects as covered in this warranty.

Components

@ Stem Body x1

@ Stem Face Plate x1
® Rubber Cap x1

@ M6 Fixing Bolts x1
® Washer x1

® Upper Cap x1

@ M5 Fixing Bolts x4
M6 Fixing Bolts x2

Stem Installation Instructions:
1.Check the bar bore diameter of handlebar can match the stem.
2 Visually inspect the product for any defective and reach the distributor or dealer for replacement if any.

3.Remove all bolts and lubricate with grease.

4 Assemble the stem body with the fork steerer tube and tighten the top cap bolt by the suggested torque.

5 Tighten the fork clamp bolts by the suggested torque on stem.

6.Remove the stem faceplate and mount the handlebar in center.

7 Tighten the bolt @ ~ @ first until No Gap and then tighten the bolt (3 ~ (@ by the suggested torque.

LTI
- waTH/

www.controltechbikes.com




"l’
‘ Falcon Stem Installation Instructions

i)z ) )

EHEE ControltechEfn - BB UL ERPEWER/IEREAL N - HLABURPEESSENERERBRIAHRELER -

RE

tBEH#EControltechi2 M FERRE - HEEZFREBERFESNEFENBEER (URZHWE ) - EREREMAEREZLEREE - BRREFRESHEMEBEER -
ControltechREI A BEHRZRRBRE ZEBE - A B HBREEEERFHEMAVIIE  URBETHREMERSHAER - B0 AR  BINHBRER NS  EFESERER - BRANEE
tAESERESEER -

EmAiE / B
Faclon Stem / RAS-88

EHEE
(ORVA=FN:::

Q@ UIEHE

® BB#HEX] -
@ M6E##x1 -
® FETX1 -
®LEx1

@ ERRE
M52 4%x6

LA

1 B ARAT  BERRSETPRARIMUSEFRNE 1 - SNEELET 5 -

2. REERINESTREAATIEREE  ARRESRESR - AUEA2NCHBEENFRE
B -

3. BRRUEETR B ME DEBE -

4. ERSIEN NRAENAING  REREEB RIS AR TKEACHRENERE
WESE  # WA FEEAOEER NEIRE)  BEFSFUEN VI ERKISET
mhsmwEs . wema rzss |l

S ARBBCUENENT  BRUSERSEFPREDRE  BUESHENRL  BLTH
BTYHE  EABKRTY  EERAENEFRERSTAE - UHKETESER ZBAEN

BHHEENT - Ve 1177/
y/

www.controltechbikes.com B/ [ /. /4




A
y/

Falcon Stem Installation Instructions

Thank you for choosing this Controltech. With proper care and installation, it will give you trouble-free, enjoyable use. B
In order to maximize the safe enjoyment of this product, you should read and carefully follow the following installation instructions and warnings. Failure to do so could result in unexpected wear and/or failure, possibly resulting
in injury.

Controltech warrants this product to be free from defects in materials and workmanship for a period of two years from the date of purchase when purchased from an authorized Controltech dealer. This warranty is extended only
to the original owner of the product and is not transferable. Proof of purchase is required for any warranty service, so be sure to keep your receipt.

This warranty does not cover cosmetic or structural damage arising from misuse or abuse, including damage caused by crashes, jumping and landing, front end impact, falls or any other collision, owner neglect of regular
maintenance, improper installation of parts and accessories. Controltech makes no warranty if modifications, changes, additions or substitutions are made to any components. Wear from normal use or exposure to environmental
elements is not covered by this warranty. Controltech makes no warranty against any incidental or consequential damage to bike or parts, or rider injury caused by defects as covered in this warranty.

Components

@ Stem Body x1

@ Stem Face Plate x1
® Rubber Cap x1

@ M6 Fixing Bolts x1
® Washer x1

® Upper Cap x1

@ Integrated Spacer
M5 Fixing Bolts x6

Stem Installation Instructions:

1. Remove all bolts and lubricate with grease.

2. Center the faceplate of stem over the center section of the handlebar.

3. Tighten the stem's bar clamp bolts to secure the bars in the stem with method of criss cross. Please follow the
suggestion of torque range on the stem.

4. Insert the stem into the fork steerer tube and adjust to desired height by putting spacer and tighten the top cap.
Adjust handlebar, stem, fork, and frame in right position and tighten the stem'’s steerer clamp by suggested torque
range on stem. Finally tighten the top cap.

5. Check for proper adjustment before each ride. As part of routine maintenance, carefully check as welds, tubes and
clamps for cracks. Replace immediately if any damage is evident.

In case of a crash or impact, carefully check your stem, bars, wheels, frame and fork for any visible damage. As with
any component under varying stress, there is a fatigue life that is proportional to the use and abuse of the part.

Undetectable, microscopic cracks can develop after a crash. These can significantly
reduce the life of any bicycle part. 11””/; ””l
e yTH/

www.controltechbikes.com




' Y/
‘ Falcon Aero Stem Installation Instructions

i)z ) )

EHEE ControltechEfn - BB UL ERPEWER/IEREAL N - HLABURPEESSENERERBRIAHRELER -

RE

tBEH#EControltechi2 M FERRE - HEEZFREBERFESNEFENBEER (URZHWE ) - EREREMAEREZLEREE - BRREFRESHEMEBEER -
ControltechREI A BEHRZRRBRE ZEBE - A B HBREEEERFHEMAVIIE  URBETHREMERSHAER - B0 AR  BINHBRER NS  EFESERER - BRANEE
tAESERESEER -

EmAiE / B
Faclon Aero Stem / RAS-101

EHEE
(ORVA-—F N
(ORVA—T-IE

O BBE;EX1 -
@ M6i2#4x1 -
® FESIX1 °
®_L£&Ex1

@ M51244x6

LA

1 FAnEER - BEESELFPRERINUBEFRAR 1 - ENEFEEN—D -

2. RBEEMIMNAERAERNATTHEERE - RREERER - ANEAZIIKHBEENKIRE
BER -

3. AR UEEFR EMEGSE LEEMR -

4 FRUBRMNRAERANE  KEAAEERNERERESE - # EHAE EEBRA0E
BENEVHEE)  BAREBFUEANUERRUEERZHIBANREE - WiKHAELEE

E% °
7 o e QO ___{O) @nocer SAABEFHELTEHEHT  BREEFERUSTREIGRE  BUSHES . BEEOQ
' YEE - BIRFEHE 00 - HERARNEBRERERRE - LEIRESER Y BAMNE

oJc) MBS - YEL 1171 A

www.controltechbikes.com ./ [ /. /4




A
y/

Falcon Aero Stem Installation Instructions

Thank you for choosing this Controltech. With proper care and installation, it will give you trouble-free, enjoyable use. B
In order to maximize the safe enjoyment of this product, you should read and carefully follow the following installation instructions and warnings. Failure to do so could result in unexpected wear and/or failure, possibly resulting
in injury.

Controltech warrants this product to be free from defects in materials and workmanship for a period of two years from the date of purchase when purchased from an authorized Controltech dealer. This warranty is extended only
to the original owner of the product and is not transferable. Proof of purchase is required for any warranty service, so be sure to keep your receipt.

This warranty does not cover cosmetic or structural damage arising from misuse or abuse, including damage caused by crashes, jumping and landing, front end impact, falls or any other collision, owner neglect of regular
maintenance, improper installation of parts and accessories. Controltech makes no warranty if modifications, changes, additions or substitutions are made to any components. Wear from normal use or exposure to environmental
elements is not covered by this warranty. Controltech makes no warranty against any incidental or consequential damage to bike or parts, or rider injury caused by defects as covered in this warranty.

Components

@ Stem Body x1

@ Stem Face Plate x1
® Rubber Cap x1

@ M6 Fixing Bolts x1
® Washer x1

® Upper Cap x1

@ M5 Fixing Bolts x6

Stem Installation Instructions:

. Ensure the clamping area of your handlebar fits the bar bore of your stem.

. Inspect the stem for any defectives before installation and please contact the dealer or distributor if any.

. Ensure the faceplate bolts are lubricated by grease.

. Mount the stem on the fork steerer tube and adjust the stack height by adding more spacers according to personal

A 0w N -

preference.
. Slightly tighten the top cap bolt and adjust the stem to the right position.
. Tighten the top cap bolt by suggested torque.
. Disassemble the faceplate complete for the handlebar assembly and mount the handlebar to the stem bare bore.
. Tighten the upper 2 bolts on the faceplate first (Bolt (D & (2Figure. 2) and then tighten the lower 2 bolts
(Bolt (® & @ in Figure 2) by suggested torque.

©® N o O

LLNTRTH
e TH/

www.controltechbikes.com




	Controltech Stem-20180312-01
	Controltech Stem-20180312-02
	Controltech Stem-20180312-03
	Controltech Stem-20180312-04
	Controltech Stem-20180312-05
	Controltech Stem-20180312-06
	Controltech Stem-20180312-07
	Controltech Stem-20180312-08

